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1.  (A) Discuss the characteristics of Indifference Curve. 14
OR
Explain the law of demand with the help of utility analysis.

(B) Choose the correct option : 4
(1) How is slope of indifference curve ?
(a) Positive (b) Negative (c) Parallel to X-axis

(2) Marginal rate of substitution is always .
(a) Positive (b) Negative (c) Neutral

(3) When the price of commodity change, the budget line is also change its

(a) Slope (b) Position (c) Direction

(4) At different points of one indifference curve give satisfaction.
(a) equal (b) different (c) plenty
2. (A) Explain the consumer’s equilibrium with help of indifference curve analysis. 14
OR

Explain the distribution of Price Effect.

(B) Choose the correct option : 4
(1)  Which situation is consumer’s equilibrium ?
(a) Maximum Income
(b) Maximum Satisfaction
(c) Maximum Consumption

(2) How is marginal substitute rate ?
(a) Decreases (b) Increases (c) Zero
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(3) What happens to Consumer’s real income when price falls ?
(a) Increases (b) Decreases (c) Remains constant

(4) If two goods are perfect substitutes to each other then the slope of
indifference curve is .
(a) Convex (b) Concave (c) Right angle

Give the meaning of price elasticity of demand and discuss the factor affecting
price elasticity of demand. 14

OR
Explain the types of income elasticity of demand.

Choose the correct option : 3
(1)  Which line is parallel to X axis ?

(a) Perfectly inelastic demand

(b) Perfectly elastic demand

(¢)  Unitary elastic demand

(2) The demand of cereal and clothes are
(a) elastic demand
(b) perfectly inelastic demand
(c) unitary elastic demand

(3) Income elasticity of demand is the measurement of

(a) demand (b) income (c) price
Discuss the characteristics of production function. 14
OR

Discuss the law of variable proportion.

Choose the correct option : 3
(1)  In which reference the production function should be derived ?
(a) Income (b)  Price (c) Time period

(2) Marginal production means
(a) Production of additional unit
(b)  Production of first unit
(c) Production of last unit

(3) For which period of time, the diminishing marginal productivity law ?
(a) longrun (b)  short run (c) medium term
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1. (A) Explain the consumer’s equilibrium with the help of indifference curve analysis. 14
OR
Explain the characteristics of indifference curve.
(B) Choose the correct option : 4
(1)  Who developed the method of indifference curve ?
(a) Hicks (b) Marshall (c) Pigou

(2) When the price of commodity changes, the budget line is also change its

(a) Position (b) Slope (c) Direction

(3) The different points on one indifference curves give
satisfaction.
(a) equal (b) different (c) plenty
(4) How is the slope of budget line ?
(a) positive (b) negative (c) parallel
2. (A) Explain the theory of law of variable proportion with help of diagram. 14
OR
Explain producer’s equilibrium with the help of Iso-quants and Iso-costs.
(B) Choose the correct options : 4
(1) Iso-quant curve is
(a) concave (b) convex (c) straight
(2) An is the locus of all the combinations of two factors of

production that yield the same level of output.
(a) Indifference curve

(b) Iso-cost curve

(c) Iso-quant curve
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(3) In short run production function inputs are changeable.
(a) all (b) acertain (c) complete

(4) Iso-cost curve represents
(a) Input combinations
(b)  Output combinations
(c) Combinations of two goods

Analyse short-run equilibrium of the firm under perfect competition.
OR
What is price discrimination ? When it is possible and profitable ?

Choose the correct options :

(1) The demand curve in perfect competition market
(a) Parallel to scale
(b) Vertical to scale
(c) Negative slop

(2) At the firm’s production equilibrium point the marginal cost must

(a) decrease (b) constant (c) increase

(3) In monopoly market, demand curve is .
(a) positive (b) negative (c) parallel to x-axis

Explain the meaning and characteristics of monopolistic competition.
OR
Explain the Kinked demand curve model of oligopoly.

Choose the correct options :
(1)  Who developed the concept of monopolistic competition ?
(a) Marshall (b) Stigler (c) Chamberlin

(2) is not a characteristic for monopolistic competition.
(a) Selling cost
(b)  Product differentiation
(c) Stable price

(3) How many producers are there in duopoly ?
(a) Two (b)  Three (c) Large numbers
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